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EARE g/m?/» 8.1 7.8 7.6 6.8 7.2 75 7.6 74 7.0 7.0 8.0 7.8 —
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A BBEIE—pd TEARS-DRETARE UN0ES 33T RS &
306 &Rl B ORTT ORISR R A
i : i\ﬁ
5B MDL | A: A. Ax B: B: B of C: Cs ji;ﬁ
(=) i1t
pH } 8.3 83 | 83 | 83 | 83 8.3 8.2 8.2 82 |7.5-85
K& (°C) ; 209 | 296 | 295 | 298 | 296 | 294 | 306 | 304 | 303 | —
% £(mglh)| - 6.5 64 | 62 | 66 | 64 6.2 6.0 5.9 57 | >5.0
FART
nall) 10 | 27 24 | 23 | 32 | 39 3.8 44 43 3.3 -
@ 7 (psu) - 31.8 | 319 | 319 | 309 | 311 | 312 | 306 | 307 | 307 | —
P AaMm | - 1.9 - ; 16 - - 15 - ; -
ERERR
(o) 10 | 060 | 028 | 057 | 043 | 052 | 027 | 033 | 079 | 059 | <30
TERTE
o) 15 | 80 99 | 95 | 110 | 91 | 104 | 93 9.7 9.8 -
@A (mg/l) | 0.002 | 0025 | 0.022 | 0.021 | 0.046 | 0.047 | 0.036 | 0.044 | 0.051 | 0033 | —
%3 (mg/l) | 0.10 | 058 | 047 | 059 | 065 | 057 | 052 | 067 | 056 | 059 | —
%% (mg/l) | 002 | 002 | 0001 | 002 | 002 | 001 | 0002 | 001 | 002 | ND. | —
AT §
imyly | 009 | 054 | 045 | 057 | 063 | 055 | 051 | 056 | 046 | 049 | —
*”(ﬁ’ﬁf 001 | 004 | 002 | 002 | 002 | 002 | 001 | 009 | 009 | 009 |
i@ (mg/l)] 007 | 016 | 009 | 008 | 011 | 011 | 006 | 038 | 038 | 039 | —
i‘fﬂn’ﬁ;g* 0.002 | N.D. | N.D. |0.0004|00012| 0.0018 | 0.0015 | 002 | 001 | 001 | —
%ﬁgﬁfi)ﬁ 0.005 | N.D. | N.D. | 0.001 | 0004 | 0006 | 0.005 | 005 | 004 | 005 | —
7 75 (mg/L) 1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 2
@/ (mg/ll) |0.0009] ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 0.01
((;F?J/?OOn?i) <10 | 70 20 40 65 | <10 25 45 45 |15E+02| —
#(mg/L) |0.0003| 0.0010 | 0.0009 | 0.0009 | 0.0009 | 0.0009 | 0.0010 | 0.0009 | 0.0012 | 0.0011 | 0.05
4(mg/L) _|0.00001]<0.00001]<0.00001]<0.0001 |0.00002 |<0.00001|<0.00001|<0.00001|<0.00001|<0.00001| 0.005
#(mg/L) | 0.0050 | <0.0050 | <0.0050 |<0.0050|<0.0050] <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | 0.05
A(mg/L) |0.00015] N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. |0.001
4 (mg/L) |0.00001] 0.00023 | 0.00024 |0.00025|0.00095] 0.00025 | 0.00036 | 0.00029 | 0.00025 | 0.00022 | 0.03
4 (mg/L)  0.00001] 0.00022 | 0.00022 |0.00022]0.00051] 0.00022 | 0.00027 | 0.00031 | 0.00023 | 0.00021 | —
4-(mg/L) ]0.00001] 0.00012 | 0.00010 |0.00008]0.00040] 0.00006 | 0.00012 | 0.00005 | 0.00006 | 0.00005 | 0.01
#(mg/L) |0.00001] 0.00216 | 0.00163 |0.00240|0.00420] 0.00254 | 0.00267 | 0.00290 | 0.00241 | 0.00229 | 0.5
L% &
(ol (000003 N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
BTN
(ma/l) |0:00003] ND. | N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
4| ~ 1 10.00004) ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
b Lol
# | (L) |0:00005| N.D. | ND. | N.D. | ND. | ND. | ND. | ND. | ND. | ND. | 01
2 #rbN\
‘Efna?ﬁj 0.00025| <0.00025 | <0.00025 |<0.00025|<0.00025| <0.00025 | <0.00025 | <0.00025 | <0.00025 | <0.00025 | 0.1
— g
(moly 0:00004 N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
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